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1. l'J(O)Jf:il:::t:J1ii~~M1to [5 .ii\i:] . 

{ 

2a + b + c + d = -1 
5a + 2b + c + 4d = 3 
7 a + 3b + 2c + 5d = 2 
2a + 2b + 4c - 2d = -12 

2 n•1A~ C! -! ~ =~) O)~f'J~J~>J<<ilJJ:o [5 Ji\i:] 
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3. fr?"J~ 9 -1 

3 3 

0 -5 
5 0 

-7 1 
-4 2 

. ( 20 1) 
) 4. fr:)'UA= 0 2 -1 t"t.Qo [5F.;\x2] 

-1 1 5 

(1) A O)[jfil1'f{@tM!it"9.Qllfil1'f~r.iO)~@~>J<<ibJ:o 
(2) p-1AP ;l,r(X'<jj!Jfj~Jt~.QiEJ!Ufr~J P ~>l<<ib, . ..:CO)t ~O) p-1AP t,~~J:o. 

5. fr7UA= ( ~ ~ -r ! ) tT.Qo [5 Ji\( x 2] 

0 0 2 1 

(1) A O)llfil1'f{@tMJitT.Qllfil1'f~Fil"JO)~@~>J<<ibJ:o 
(2) p-1AP ;/J~)rtfel1'J7Ut~.QiEJ!U1'J~J P ~>l<<ib, -'fO)t ~O) p-1AP t,~~J::o 

6. A= ( ; _; -; ) tT.Qo [5.ii\i: x 2] 
-1 2 1 

(1) A O)[jfil1'f{@tMJit"t.Qllfil1'f~r.iO)~jg;~>J<<ibJ::o 

(2) A ~l!1i3i:fr7Uf:J::-::>-CX\Jfel{l'..itJ:: (T-1AT ;IJ~X'<Jfelfr:)'Ut~.Q]i1[3('.fr~J T ~>1< 
<lb, -'fO)t ~O) r-1AT 't~~J::o ) 

7. U1 = (2.1, 0, -1), U2 = (0, 1, 1, -1), U3 = (-1, 0, 2, 3) U4 = (6, 1, -2, -1) Cl_., 
U=(u1,u2),V=(u3,u4) t"9.Qo [5.ii\i:x2] 

(1) U + V O)~}g;~>J<<ilJJ::o 

(2) u n v O)~* ~ >l<<ib J:: o 

8. A ~iE/.Jfr~Jt !_., >.1,>.2,>.3 ~A O);j<§~~.Q[jfil1'[{@tT.Qo V(>.i) (i = 1,2,3) ~ 
>.i r:xt"9.Qllfil1'f~Fil"lt"9.Qo ,::O)t~ (V(>.1)+V(>.2))nV(>.3)={0} C'Ji).Q.::. 
t ~ 7.Kit 0 [5 .ii\i:] 

[5 Ji\( x 12 = 60 Ji\(l1fiij .ii\i:] 


